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Weight of sample . . . . - . "
g P in 1000 mL or 1 lit of solution = M Jslae il G 50 Jse dlaxd 1 M =(molarity) 4 N g o
Molecular Weight

(density = 1g/mL) o DDl il So b Pla o KIS Sy 2 50 3l ;(molality) 45N ge o

‘mole = Jse = Jse dlni o

:dv;ifchutli ?;r;grt = number of moles
¥ e X ki 350 aaa = Dhiasepan e el
Molarity X Volume = M XV = number of moles in the target volume (V)
:Eg. mole = Equivalent mole =  Jdse ¥l oSl = @il o8l dlaxd o
NXV = = oghtofsample _ _Weightofsample  _ 1\, mher of equivalents in the target volume (V)

Equivalent Weight "~ Molecular Weight /n
MXnXV

@SLAJ}X)EJJ*F?.AA = )LSJJJAPJJQ}Y\}‘\S\J\MZ JLJJJ*%?;AJJ&)A@Y“S:\S\

Normality X Volume = N X V = number of equivalents in the target volume (V) = equivalent moles
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: Eq. Wt = Equivalent Weight = (s & cwa ) g &I gS) o
Molecular Weight
number of functional reacting factor in the target reaction (n)

Equivalent Weight =

BRI ) e JESI g & g4 4l S5 0 fige s dlaaS = number of functional reacting factor in reaction = n

(54) H b i U (am) HY s et 31 culid L 1 3a) dasd Jobae jige Ja 2laad -l (5S35 0=

Jodaa bl SO 2 ([ dge ) gaS)) ) gaS) daad ((N)Addla )3 @

Weight of sample  Weight of sample
Equivalent Weight ~ Molecular Weight /n

in 1000 mL or 1 lit of solution = N

Bl Jolae oG 51 (38 Jolaa gt @

as,) DB ) se a8 Y 00 b (Vi) Jslan (adiiia aan S et ) n (Mige Juasdie 45 )Y 90 b (Ve ) Bule Jolae 31 a3V ana jlaia
A e s g () Jslaeg Iasle Jglae )3 (U (oo 2lan3) e a5 0l 5 Guld Lo 5) ) Alilas Gl 0 (M

Mie X Vi = Mas, X Vs,

e;;bodﬂ‘\.\u\;avhk_J\mhdd\.xae;;d_)\.méﬂg‘)&\}&_\:ﬁ_)ﬁuﬁ\m‘M\JGAV&J_)\JES\A}SLSJJQ)L.\J\Vmﬁ@.u\&m
Jﬁwbmu)(vdﬂ))@l{_}u&(AMM(\)L&AE—JY}AM)J%LS\JJ\WL}A
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s Sy asle slEIND (5 Jlug N3 02Kl

(Wt /W) S0/ A s LBl Jelae SO o) g A5 Y e dplaa

(09 a2 37 padh 51,19 g/mL iwdla b (Commercial) sosd (HCI) Seox i anal Jdae 4% ¥ 50 5 ailla yiasidas o

MWt (HCI) = 98

MWt (HCI) _ 36.5
1

Eq. Wt (HCI) = =365

d =1.19 g/mL means there is 1.19 g of HCI in 1 mL of solution of commercial HCI

purity percent = 37% W1t/ Wt means there is 37g HCI in 1009 solution of commercial HCI

Wt of HCI in 1000 mL of solution = 1.19 x 1000 x%= 1.19 x 10 x 37

Wt of HCl in 1000mL of solution
M.Wt (HCI)

M = number of moles in 1000 mL solution =

d X 10 X purity percent (%) 1.19 X 10 X 37 12.06 M
MWt - 36.5 B

Wt of HCl in 1000mL of solution

N = number of Eq. moles in 1000 mL solution =
Eq.Wt (HC])

d X 10 X purity percent (% 1.19x 10 X 37
N - purity p 6) _ -12.06 N
EqWt 36.5
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(S0 dan A el 51.8 g/mL Aty b s )ad (HaSO04) el 8l g deal J glaa 4y )Y g0 5 allla i dsulas o
MWt (H2SO4) = 98
EQ.Wt (H2S0,) = 12508 = 8 _ 49
d = 1.8 g/mL means there is 1.8 g of H2SO4in 1 mL of solution of commercial H2SO4

purity percent = 98% W1t/\Wt means there is 98g H2SO4in 100g solution of commercial H2SO4
Wt of H2SO4in 1000 mL of solution = 1.19 x 1000 x% =1.19 x 10 x 37

Wt of H2S04 in 1000mL of solution
M.Wt (H2S04)

M = number of moles in 1000 mL solution =

d X 10 X purity percent (%) 1.8 x10 X 98
MWt - 98

=18 M

Wt of H2S04 in 1000mL of solution
Eq.Wt (H2S04)

N = number of Eq. moles in 1000 mL solution =

d X 10 X purity percent (% 1.8 X 10 X 98
N - purity p @0 _ _36 N
EqWt 49
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a2 VY gasda 5 V/08 g/mL 4l b o lad @lpa )IS sl ) i e s Jleyi ) cdlpm )IS sl i) Lk 0 4l 0 e
fall e a)Y S

® Nas,=Mas, xn

o 1=Mus,x1
o Mass,=1
d X 10 X purity percent (% 1.19 X 10 X 37 d X 10 X purity percent (% 1.19 X 10 X 37
M= purity p %) _ -12.06 M N- Purity p %) _ -12.06 N
MWt 36.5 Eq.Wt 36.5

Mas, =1 :SooxolS il 44 )Y g el aaalas

Mue x Viae = Mas, x Vs,
12.06 x Ve =1 x 500
Ve =41.46 mL

Nas, =1 1 SQoulS sl 4idle 5 Galal p 4pilase

N x Vie = Nas, x Vas,
12.06 x Ve =1 x 500
Ve =41.46 mL

ol il e 81+ aas 4y i ol U Bl (S35 aand 51 il e 41,46 et slae 4 (512 sl 4ngi
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$3 o a3V (7AA) 5 ba il s 3 31 ) e in Lot ¥l il g ol il e O agi sl

2=Majs,x2
Mas, =
d X 10 X purity percent (% 1.8 X 10 %x98 d X 10 X purity percent (% 1.8 X 10x 98
Mlle = 4 (%) = = 18 M N = Y (%) = = 36 N
MWt 98 EqWt 49

Mas, = 1 1S58l g sl 4 )Y g0 (bl dadae
Mg x Ve = Mas, x Vs,
18 x Vue=1 x 500

Vee=111.12 mL
Nas, =2 1S5l s dnul aiilla i el danlas
Nz X Ve = Ngs, x Vs,
36 x Vue =2 x 500

Vee=111.12 mL

Rgdoilay Sl e 8 v aas 4y phaie ol Lidale (S0 8 ol g sl 5 il e 111,12 Jlaie 1 shae 468 () dulae 4ais
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